
DRIVENRacing

DUCATI Part # 
1199/1299/V4 M10 X 1.00

HONDA Part #
CBR 600 RR ALL

CBR 1000 RR ALL

M10 X 1.25

M10 X 1.25

KAWASAKI Part #

ZX 300 ALL M10 X 1.25

ZX 650 ALL M10 X 1.25

ZX 6 R ALL M10 X 1.25

M10 X 1.25ZX 10 R ALL

M10 X 1.25

M10 X 1.00

M10 X 1.25

M10 X 1.25

SUZUKI Part #
GSXR 600/750 04-

GSXR 1000 01-02

GSXR 1000 03-

GSX1300 R 08-

www.drivenracing.com 7/10/2017

M10 X 1.25

TRIUMPH Part #
TRIUMPH 675 ALL

YAMAHA Part #
R-3 ALL

R-6 99-16

R-6 17-19

M10 X 1.25

M10 X 1.25

M10 X 1.00

Brake Pressure Switch Chart

R-1 ALL M10 X 1.25

GROM M10 X 1.25

M10 X 1.25ZX 250/300/400

M10 X 1.25TRIUMPH STREET TRIPLE 

M10 X 1.25TRIUMPH SPEED TRIPLE 

M10 X 1.00TRIUMPH STREET TRIPLE 765 RS  

FZ07/MT 07/FJ 09/XSR 900 M10 X 1.25

M10 X 1.25FZ09/MT 09/XSR 700

APRILIA Part #
RSV4

TUONO V4

M10 X 1.00

M10 X 1.00

MILLE M10 X 1.00

Z 125 PRO ALL M10 X 1.25


